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Warm Up
Grade 8 @

Oct. ___, 2019

1) Find the missing number (Show your work)

.
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3) Place a <,> or = in the blank between (Can use a calculator BUT
show your work. )
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Quiz Time
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Homework
- Solutions

1. Identify the base of each power.
a) 6 ( b2 Lo sd T 9

2. Use repeated multiplication to show why 3% is not the same as 5°.

3*=3x3x3x3x3 5=5x5x5
=243 =125
Complete this table.
Power | Base | Exponent | Repeated Multiplication Standard Form
4 4 u UxUyy xy 286
10°
o 3 T ITN2Y [1.Y.Y.Y
[ o B 2 Nxiy 19¢
|$ | c I=x1=x1=x1=x1 L
o 9 ' ;_ 531 441
¢ o 1 SXSXSXSXSXSXS N h e
4. Write each product as a power, then evaluate (standard form). L
a) 6x6 6=, b) 3x3x3x3x3x3=Y =V

c) lDXIDxlelD:w\l_"o%od) 8x8x8§%) = 513

5. Find the missing exponent. (Show work)
a) T8=16807 b)28=32 gH =128 @3% =81 ¢d*=31

7x7=4 c)2x2=4
a) x7=49 b)2x2=4 y2r2es
= XL X£4 =
TX7x 7 =343 2x2%2 =8 e
= X2 X2 X2 =
TXTXTXT =2401 2 %2 %2 X2 = 16
7XTXTXTX7 = 16807 2x2x2x2x2=32

2X2x2x2x2=32
2X2X2x2x2x2=64

2X2X2X2X2X 2x2 = 12!
d)3x3=9
3x3x3=27
3x3x3 = 81

)9x9=81

6. Find the missing base.

a) Y =64 b) =49 ¢ _| %=1 d) G =729

7. Ewaluate each of the following. What do vou notice?
a) 107 b) 10° ¢ 10° d) 108
100 1000 100 000 1 000 000

The exponent on the 10 is the number of zeros that appear in
standard form

8. DPlace a <, >or=in thebox. (Show vour calculations)

2) 276 ) FEE o PRIY d) TEE
128 015 04 64 729 243 343 7776
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What do we notice?

31 =9
10'=10
12'= |2
17'= 1
271 =27
99" = @4
3
5\ - 6 Q%Q -:_—S
)
5 = 25)’(5 =

October 30, 2019
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Exponents

Whenever you have an exponent of 2, it is said to be squared. 22 might be
read as 3 squared.

Whenever you have an exponent of 3, it is said to be cubed. f might be

read as S cubed.

If the base is raised to the exponent 1, then the answer will always be the

base itself.

L examples: 15'=15 24' =24 6 893' = 6 893

-

If the base is raised to the exponent 0, then the answer will always be 1.
examples: 26’ =1 147° =1 945° =1

—
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Squares and Perfect Squares

Ex. 1)
What is the area of each below?
Are they squares? Why or why not? S%\m\‘- <
Rect angle
Az Lxw A- Lrw |
< 8:0\’(5:?& el | —
= ""0 cm - q xq
Sem =< Ic"q

v AelRW
= Tt ALXY o
g =2 KL - =Qewk
= Yem" = Sdem

Ex 2) Can you form squares with the following areas? (Ca(*hf&)

(a) 18 cm® (b) 25 cm? (c) 100 cm?

| % 19 Rec\ ! x25%ec ( \xleoo

LY QR @*5 5‘“’:‘ aﬁx%

3 XbRe 5x20 | Qs

How do you know if a given area will make a square?

You will form a square if 2 of the factors are the same, for example an area of
25 cm? forms a square because 25 =5 x 5
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Squares and Perfect Squares

What is the area of each below?
Are they squares? Why or why not?

A=LxW

=8x5

= 40cm?

8 cm

Not a square,

sides are not equal

2cm

2cm

A=LxW
=2cm X 2cm

=4 cm?

Square all sides

equal

8cm

EX 2) Can you form squares with the following areas?

(a) 18 cm?

a) No, there is no number you can

multiply by itself to get 18

(b) 25 cm?

(c) 100 cm?

October 30, 2019

A=LxW:-
=9x9
m o =81om?
Square, all

sides are

equal

A= LxW

=8cm x4cm

=32 cm?
Not a square,

sides are

not equal

(d) 60 cm?

b) Yes, forms a square, 5 x 5=25
C) Yes because 10 x 10 =100

d) No, can not form a square, there is no number you
multiply by itself to get 60

How do you know if a given area will make a square?
You will form a square if 2 of the factors are the same, for example an area of

25 c¢m? forms a square because 25 =5x 5
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Notes

"To Square a number" - Multiplying a number by itself

Example: "The square of 5"is 5x5=25
Thus

52 =25
5% =5x5=25

\

25 is a square number

or Perfect Square



Attachments

Q WS 2.3 Powers (Sept. 6 Homework).pdf
Q WS 2.3 Powers Soultions pdf.pdf



Name Date

Extra Practice

Lesson 2.1: What Is a Power?

1. Identify the base of each power.
a) 6° b) 2 c) (-5)* d) 7°

2. Use repeated multiplication to show why 3° is not the same as 5°. (Include standard form)

3. Complete this table.

Power | Base | Exponent | Repeated Multiplication Standard Form
4*
10°

14 2

Ix1x1x1x1
9 531 441

5x5x5x5x5x5x5

4. Write each product as a power, then evaluate (standard form).
a) 6x6 b) 3x3x3x3%x3x%x3
c) 10x10x10x10 d) 8x8x8

5. Find the missing exponent. (Show work) 0 0
a) 70=16807 b)20 =32 ¢)z” =128 d)3~ =81 )9~ =81

6. Find the missing base.
a) =64 b)_ 2=49 ¢)_  °=1 d_ 3=729

7. Evaluate each of the following. What do you notice?
a) 10° b) 10° c) 10° d) 10°

8. Place a<, >or =in the box. (Show your calculations)

a) 2'0J6* b)4112° ¢)9[d3° d) 7°[16°

The right to reproduce or modify this page is restricted to purchasing schools.
This page may have been modified from its original. Copyright © 2009 Pearson Education Canada
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Name

Extra Practice

Date

a) 6°

Base = 6

Lesson 2.1: What Is a Power?

1. Identify the base of each power.

¢) (-5)*

b) 2’

Base=7

Base = -5

d) 7°

Base =7

3% = 3x3x3x3x3

2. Use repeated multiplication to show why 3° is not the same as 5°. (Include standard form)

5% = 5x5x5
= 125
=243
3. Complete this table.
Power | Base | Exponent | Repeated Multiplication Standard Form
2* 4 4 AxAxAx4 256 9-=513 441
10° 10 3 10x10x10 1000 g{{
142 14 2 14x14 196 /| g=g1
1° 1 5 1x1x1x1x1 1
9° 9 6 9X9x9X9X9X9 531441 /|-
6
5 5 7 5X5X5X5X5X5X5 78125 9°=513441
4. Write each product as a power, then evaluate (standard form).
a) 6x6 6°=36 b) 3x3x3x3x3x3 3°=729
c) 10x10x10x10 10*=10000 d) 8x8x8 8% =512
5. Find the missing exponent. (Show_york) 0 0
a) 7U=16807 b)2H =32 ¢)z” =128 d)3~ =81 ¢)9 =81
5a) 7= 16 807 5h) 2= 32 5¢) 2= 128 5d)3-=g1 | 5¢) 9I=81
X7 2%2 2x2 3x3 9x9
49 X7 4 x2 4 x2 9 x3 8
343 x 7 8 x2 8 x2 27 X 3 =9
2401 x7 6 x2 6 x2 81
16807 32 32 x2
=7’ =2° 64 x2 =3’
128
L :27
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6. Find the missing base.
a) 4 %=64 Db) 7 %=49 ¢) 1 °=1 d) 9°*=729

7. Evaluate each of the following. What do you notice?
a) 10° b) 10° c) 10° d) 10°

=100 =1000 =10 000 =1 000 000
When the base 10 is raised to any exponent the exponent indicates how many zeros.
8. Place a<, >or =in the box. (Show your calculations)

a) 2’ < 6° b)4® = 2° )9 > 3 d 7°< 6

128 216 64 64 729 243 343 7776
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